

$$\frac{r \tan b}{\sqrt{\frac{1}{r}}} = \frac{r\sqrt{r}}{r^0} = r \tan b = r\sqrt{r} \times \frac{1}{\sqrt{r}} \rightarrow \tan b = \frac{\sqrt{r}}{r} \rightarrow \left(b = \frac{\pi}{4} \right)$$

$\textcircled{p} \text{ also } \frac{0}{0} \Rightarrow 1 \rightarrow \Delta - a + b = \dots \rightarrow \begin{bmatrix} a - b = \Delta \\ a + b = 1 \end{bmatrix} \Rightarrow \begin{matrix} a = r \\ b = -r \end{matrix} \} \rightarrow \begin{bmatrix} -\frac{r-1}{r} \end{bmatrix} \cdot \begin{bmatrix} -\frac{r}{r} \end{bmatrix} = \begin{bmatrix} -1 \end{bmatrix}$
 $\lim_{x \rightarrow 1} (x^r + ax + b) = 0 \rightarrow 1 + a + b = 0 \rightarrow$

$\textcircled{p} \rightarrow 1) \tan \frac{\pi}{2} = \underline{\underline{-1}} \rightarrow \textcircled{r} \lim_{x \rightarrow \Delta^-} \frac{(x-1)(x+1)}{1(1-x)} = \left[\frac{-1}{1} \right] \left[f(\Delta) = l.o.b \right]$
 $\rightarrow \textcircled{r} \lim_{x \rightarrow 1^+} \frac{(x-1)(x+1)}{a(1-x)} = -1 \rightarrow -\frac{1}{a} = -1 \rightarrow \boxed{a=1}$

$$\begin{aligned} \textcircled{\Sigma} \quad & a[x+1] + b[x+a+1] \rightarrow \\ & a[x+1] + b[x] + b[a+1] \rightarrow \frac{a(\{x\}+1) + b\{x\} + b\{a\} + b}{a\{x\} + a} \\ & \rightarrow (a+b)\{x\} + (a+b+b\{a\}) \\ & a+b=0 \rightarrow b=-a \rightarrow f(x), -a\{a\} \rightarrow \frac{a\{a\}}{-a\{a\}} \textcircled{-1} \checkmark \end{aligned}$$

$$\textcircled{a} \quad b[x^2+ax]-ra \rightarrow \boxed{b=0} \rightarrow f(n) = -ra \rightarrow \frac{a}{f(b)} = \frac{a}{-ra} = \boxed{\frac{-1}{r}}$$

4) $f(x) = \begin{cases} \frac{x^r + mx + n}{a - x} & x \neq a \\ r & x = a \end{cases}$
 $a \neq x \rightarrow f(a) = 0 \rightarrow a = ra \rightarrow$ میشود صفر
 $x = a \rightarrow$ میشود صفر + جابجایی

5) $f(x) = \begin{cases} \frac{(x-a)(x-ra)}{-(a-a)} = -(x-ra) \rightarrow f(x) = \begin{cases} -(x-ra) & x \neq a \\ r & x = a \end{cases}$
 $\rightarrow \frac{xa^r + ram + n}{-a} \rightarrow \frac{xa^r + ram + n}{-a} = 0 \rightarrow f(a) = -(a-ra) \cdot r \rightarrow a = r$
 $f(x) = \frac{(x-a)(x-ra)}{-(a-a)} = \frac{(x-r)(a-r)}{-(a-r)} = \frac{a^r - ra + n}{-(a-r)} = \frac{a^r + ma + n}{-(a-r)}$

$m = -r, n = a \rightarrow n - m = a - (-r) = 1r$
 6) $f(x) = \begin{cases} (1-a)[x] + (ra^r - 1)[-x] & x \notin \mathbb{Z} \\ b \sin \frac{\pi}{a} & x \in \mathbb{Z} \end{cases}$
 $\text{مثلاً: } (1-a)[2] + (ra^r - 1)[-2] = (1-a)2 + (ra^r - 1)(-2-1) \text{ (I)}$
 $\text{مثلاً: } (1-a)[2] + (ra^r - 1)[-2] = (1-a)(2-1) + (ra^r - 1)(-2) \text{ (II)}$

$I, II \rightarrow \lim_{x \rightarrow \mathbb{Z}^+} f(x) = \lim_{x \rightarrow \mathbb{Z}^-} f(x) \rightarrow -1 + a = -ra^r + 1 \rightarrow ra^r + a - r = 0 \rightarrow \begin{cases} a = -1 \times \\ a = \frac{r}{r} \end{cases}$
 $a = \frac{r}{r} \rightarrow b \sin\left(\frac{\pi}{\frac{r}{r}}\right) = -b \rightarrow -b = -\frac{1}{r} \rightarrow b = \frac{1}{r}$

7) $f(x) = \begin{cases} \frac{|x^r + mx - m - 1|}{m|x^r - 1| + |x - 1|} & x \neq 1 \\ \frac{m}{m+r} & x = 1 \end{cases}$
 $x \neq 1 \rightarrow \frac{x^r + mx - m - 1}{m|x^r - 1| + |x - 1|} \rightarrow \frac{ra^r + ra - m - 1}{m|ra^r - 1| + |r - 1|} \rightarrow \frac{ra^r + ra - a}{m|ra^r - 1| + |r - 1|} \rightarrow \lim_{x \rightarrow \frac{r}{r}} \frac{a + \frac{1}{r}}{\frac{r}{r} + 1} = \frac{\frac{r}{r}}{\frac{r}{r} + 1} = \frac{r}{r+1}$

$\lim_{x \rightarrow \frac{r}{r}} \frac{|(a-1)(u+m+1)|}{|(a-1)(u+1)| + |u-1|} = \frac{|a-1|(u+m+1)}{|a-1|(m|u+1|+1)} = \frac{|m+r|}{r_{m+1}} = \frac{m}{m+r}$
 $m \geq -r \rightarrow m^r + m + r = r_{m^r + m} \rightarrow m^r - r_{m^r} - r = 0 \rightarrow \begin{cases} m = -1 \\ m = r \end{cases}$
 $a^r + ma - ra + a = 0 \rightarrow \begin{cases} a^r + a + m - r = 0 \\ m = -1 \rightarrow \frac{|a^r - a|}{-|a-1||a+1| + |a-1|} = \frac{(a||a-1|)}{|a-1|(-|a+1|+1)} \times$

8) $f(x) = \frac{\sqrt{r}|ax+a|}{|x^r + (m-r)x + a^r|}$
 $x = a \rightarrow$ جابجایی
 $a^r + a = 0 \rightarrow a(a+1) = 0 \rightarrow \begin{cases} a = 0 \times \\ a = -1 \checkmark \end{cases}$
 $a^r + a(m-r) + a^r = 0 \xrightarrow{a=-1} -1 - m + r + 1 = 0 \rightarrow m = r$
 $\lim_{x \rightarrow -1} \frac{\sqrt{r}|-a-1|}{|a^r + 1|} = \frac{\sqrt{r}|-(a+1)|}{|(a+1)(a^r - a + 1)|} = \frac{\sqrt{r}}{r}$

9) $f(x) = \begin{cases} \frac{x^r + |x|}{x^r + a|x|} & x \neq 0 \\ \frac{ra-1}{ra+r} & x = 0 \end{cases}$
 $x \neq 0 \rightarrow \frac{x(x+1)}{x(x+a)} = \frac{1}{a}$
 $x = 0 \Rightarrow \frac{1}{a} = \frac{ra-1}{ra+r} \rightarrow ra^r - a = ra + r \rightarrow ra^r - ca - r = 0$
 $\rightarrow a^r - ca - r = 0 \rightarrow (a-c)(a+1) = 0 \rightarrow \begin{cases} a = \frac{1}{r} \\ a = -1 \end{cases}$
 $\lim_{x \rightarrow \frac{1}{r}} \frac{\frac{1}{r} + \frac{1}{r}}{\frac{1}{r} + 1} = \frac{\frac{2}{r}}{\frac{r}{r}} = \frac{2}{r} = \frac{r}{r} = 1$